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CORPORATE ACCOUNTING-II

Paper–BC-401

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory. Rest all
Questions carry equal marks.
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1. Answer the following in short :

(a) What is super profit ?

(b) Discuss dividend yield method of valuing shares.

(c) Preferential creditors.

(d) Rebate on Bills discounted.

(e) Re-insurance premium. (5×4=20)
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2. What do you mean by Goodwill valuation? Discuss the
methods which are used for Goodwill valuation. Which
method is the best in your Opinion? (15)
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3. The following particulars are available in relation to ABC
Limited :

(1) Capital : 450, 6% preference shares of Rs. 100 each
fully paid up and 4500 equity shares of Rs. 10 Each
fully paid.

(2) External liabilities Rs. 7,500.

(3) Reserve and surplus Rs. 3,500.

(4) The average expected profit (after tax) earned by the
company is Rs. 8,500.

(5) The normal profit earned on the market value of equity
shares, fully paid, of the same type of companies is
9%.

(6) 10% of the profit after tax each year is transferred to
reserves.
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Calculate the fair value of shares assuming that the assets
worth Rs. 350 out of the total assets are fictitious. (15)
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UNIT–II ������–II�

4. How will you calculate pre-acquisition and post-acquisition
profits in case of the shares of a subsidiary company are
purchased during the course of the Year? Give a suitable
illustration. (15)
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5. Give a performa of Profit and Loss Account of Banking
Company with schedules. (15)
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6. The position of Z Limited in liquidation is as follows :

Issued share capital :

1,000, 6% Preference shares of 100 each, fully paid (arear
of the dividend of one year) . .

1,000 'A' Equity shares of Rs. 50 each, fully paid.

1,000 'B' Equity share of Rs. 40 each Rs 30 paid.

"B" Calls in Arrear Rs. 4,000;

Calls in advance Rs. 6,000 of "B" Equity.

Cash left after making payments to creditor but before
making any calls Rs. 1,16,000

(a) Prepare liquidator's final statement of Account.

(b) What will be the position if cash in hand is Rs. 1,34,000

Assume payment of Preference dividend is in priority to the
Equity Share Capital. (15)
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7. Give a new performa of revenue account of a general
insurance company with schedule. (15)
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UNIT–IV ������–IV�

8. What do you mean by a liquidator's final statement of
Accounts? Discuss the order of Payment adopted by a
liquidator. Also, discuss the methods of calculating the
liquidator's remuneration. (15)
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9. On 31st March, 2020, the books of the insurance company
contained the following particulars in respect of the Fire
Insurance Business.

Reserve for unexpired risk on 31st March 2019 — 20,00,000
Additional reserve, 31st March, 2020 — 4,00,000
Claims Paid- 25,60,000

Estimated liability related to Outstanding claims

on 31st March, 2019 — 2,60,000

on 31st March, 2020 — 3,60,000

Expenses of management including Rs. 1,20,000 legal
expenses paid connection with claims — 11,20,000

Premium on Reinsurance ceded — 3,00,000

Reinsurance Recoveries — 80,000

Premiums — 44,80,000

Interests and Dividends — 2,58,000

Income tax thereon — 20,080

Profit on sale of Investment — 44,000

Commission — 6,08,000

Prepare in prescribed form the fire insurance revenue account
for the year 2019-20, reserving 50% of the premiums for
unexpired risks and keeping an additional reserve of
Rs. 4,00,000. Assume that one-fourth of the premiums and
claims are applicable to business outside India.
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